
ASSEMBLY  INSTRUCTIONS

1/13



Part List

x1Pc x1Pc x2Pcs x1Pc x1Pc

x1Pc x1Pc x1Pc

2/13

x1Pc x1Pc

x1Pc x1Pc x3Pcs x3Pcs x2Pcs

x2Pcs x1Pc x1Pc x1Pc x1Pc

x1Pc x1Pc x1Pc x1Pc x1Pc

x1Pc x1Pc x2Pcs x2Pcs x1Pc



Hardware List

PLEASE BE CAREFUL. DO NOT DAMAGE THE HOLE
POSITION WHEN YOU USE POWER TOOLS !

Ax48Pcs Bx48Pcs Cx60Pcs Dx12Pcs Ex4Pcs

Fx4Pcs Gx4Pcs

3/13

Hx3Pcs Kx8Pcs

M4x14 M4x35 M4x18

Mx8Pcs

Nx8Pcs Px2Pcs Rx1Pc

M6x25M6x10

Sx2Pcs Tx8Pcs

M6x50

Ux8Pcs Vx2Pcs



4/13

Step 1

Step 2

Ax16PcsRx1Pc

A

R

Cx8Pcs
M4x14

Rx1Pc Hx2Pcs

R

C

H1



5/13

Step 3

Step 4

B

Bx8PcsRx1Pc

R

Cx4Pcs
M4x14

Rx1Pc Hx1Pcs Ax4Pcs
R

C

H1

A

R



6/13

Step 5

Step 6

Bx4PcsRx1Pc

B

R

Rx1Pc Cx16Pcs
M4x14

Ax8PcsGx4PcsA

R

C
G



7/13

Step 7

Step 8

Bx8PcsRx1Pc

B
R

R

C
Cx12Pcs

M4x14
Rx1Pc Hx3Pcs



8/13

Step 9

Step 10

Ax20PcsRx1Pc
A

R

Bx12PcsRx1Pc

B
R



9/13

Step 11

Step 12

Rx1Pc Dx12Pcs
M4x35

Ex3Pcs
M4x18

Fx3Pcs
R

D

E

F

Bx8PcsRx1Pc Px2Pcs Nx8Pcs Kx8Pcs
M6x10

R

N

K

B
R



Rx1Pc
M6x25

R
M

10/13

Step 13

Step 14

Rx1Pc

Mx8Pcs

Bx8Pcs

B

R



11/13

Step 15

Step 16

R

C
S

Cx4Pcs
M4x14

Rx1Pc Sx2PcsEx1Pc
M4x18

Fx1Pc

E

F



12/13

Step 17

Cx8Pcs
M4x14

Rx1Pc

R

C



13/13

Step 18

Step 19

Rx1Pc Tx8Pcs
M6x50

Ux8Pcs

Rx1Pc Cx8Pcs
M4x14

Vx2Pcs

U

T

R

R

C

V


	两个外贸妆台组装图 Model (1)
	两个外贸妆台组装图 Model (1)
	两个外贸妆台组装图 Model (1)
	两个外贸妆台组装图 Model (1)
	两个外贸妆台组装图 Model (1)
	两个外贸妆台组装图 Model (1)
	两个外贸妆台组装图 Model (1)
	两个外贸妆台组装图 Model (1)
	两个外贸妆台组装图 Model (1)
	两个外贸妆台组装图 Model (1)
	两个外贸妆台组装图 Model (1)
	两个外贸妆台组装图 Model (1)
	两个外贸妆台组装图 Model (1)

